INETH RS kS smeEll BANYMPE 1. 26458 theEE>» 5 E(8)

FEEHA MAXT %

M

2 (L) FC RV ML= RRIVNR=IITT(HK) 1~2 £ 148=E (1/2)
2 (%) I—IIN—=ILK= EBkER 1~3 E2HE=E
3 (H) AR b SAEAN—YER 1~4 R N=
4 (RH) mERAS(ARA) IRy M=) = 1~5 COR N=
6 (K) FC BRIV ML= RRIVNR=IITT(#K) 3~5 F1HB=E (1/2)
6 (K) S1Z7N\L—h—ILE=E INETHAR=YiHS 3~5 E2HEBE
10 (BH) mERA=(RA) IRy NRk=IU e 1~5 R N=
13 (7K) FC RV MNIILEE=E RRIYNR=II5T(¥K) 3~5 E1HB=E (1/2)
16 (1) ZERMFKERANL—R—-IKX= IL—h—)EER 1~4 N NS
17 (B) MEARBRIINAKRE - —i% AN NS B F e 1~5 R NS
20 (7K) FC BRIy ML= ERIVMNR=ILIZT(RK) 3~5 £ 1HKEB=E (1/2)
20 (7K) S1Z7N\L—h—ILE=E INERARN-YiE 3~5 E2HEE
23 (1) INERR PTA BER/L-M—ILKE SYEAR—-YER 1~4 F1HAKEE
24 (B) NFr RS (ZIo50HF) NFvins 1~3 £ 1A4E=E
27 (K) FC RV MIILEE=E RRIYNR=IITT(BK) 3~5 E1HBE=E (1/2)
30 (%) MEMRAS(FFE) EEkER 1~4 E1AKB=E




